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GROUP A

1o

)
zZ=-1-1
Arg[z]

-1-1
377

4

1)

Cl ear [X]

Integrate[l/ (x*"2+6x+10), X]

Integrate[l/ (Xx*2+6Xx+10), {x, 0, +Infinity}]

ArcTan[3 + X]

% (mr-2ArcTan[3])
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i)

A={{I1 _1}1 {11 _I}}1
Mat ri xFor m[A]

Print ["|A] = ", Det [A]]

Print ["Inverse matrix A ="
| nverse[A] // Matri xFor m]

1 )

Al = 2

| nverse matrix A = (

N|E- NP
N~

N[ N|E-

i)
@mo- I Ntegrate[x Sin[2 x], X]
Integrate[x Sin[2x], {x, 0, Pi}]

1
ouno- — — X COS [2 X] + 7 Sin[2X]

Out[11]= —

NI Y N
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i)
ClearAl [f, x]1;
f[X ]:=Log[l-x"2]
Print ["Roots f (x) : ", Solve[f [x] =0, x]]
Print ["Derivative f’ (x) : ", Factor [D[f [X], X]1]
Print ["Critical Point ,
Sol ve [D[f [x], x] =0, x], " approxinmately : ",
N[Sol ve [D[f [Xx], X] =0, x11]
Roots f (x) : {{x-=0}}

Derivative f’ (x) 2%
(-1 +x) (1+X)
Critical Point : {{x->0}} approximately : {{x->0.}}

The curve of thefunction f (x) =In (1 -x"2),
when -1<x<1
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CearAl [f, x]; f[x_ ]:=Log[1l-x"2]

fgrl=Plot[f[x], {x, -1, 0}, PlotStyl e - Thick,
Col or Functi on -> Function[Red]];

fgr2=Plot [f[x], {x, 0, 1}, PlotStyl e » Thi ck,
Col or Functi on -> Function[Bl ue]];

fgr = Show[fgrl, fgr2, PlotRange -> Al |,
AxesLabel - {"x", "f (X)"}]

f(x)

1) MACLAURI N’ s POLYNOM AL

Print ["Derivative f'’' (x) : ",
Fact or [D[D[f [x], X1, X]11]
Print ["Maclaurin’s polynomal : ",
Series[f[x], {X, 0, 2}]1]

2 <1+X2>
(-1+x)%2 (L+x)2

Macl aurin’s polynomial : -x?+0[x]3

Derivative '’ (x) = -
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GROUP B

1o
)
= Z = -1+1
Arglz]
out[1]= -1+1
37

Out[2]= —

4
i)
w- Clear [X]
Integrate[l/ (X*"2+4 X +5), X]
Integrate[l/ (X*"2+4x+5), {X, 0, +Infinity}]

oua- ArcTan[2 + X ]

1
ou o (r-2ArcTan[2])
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i)
\H[G]:A={{I1 1}1 {_11 -1 }}1
Mat ri xFor m[A]
Print ["|A] = ", Det [A]]

Print ["Inverse natrix A = ",
| nverse[A] // Matri xFor m]

Out[7]//MatrixForm=

( | )
1 IL.

| nverse nmatrix A = ( N ) J
2 2

N|=-
N[~

1)
- I Ntegrate[x Cos[2 x], X]
Integrate[x Cos[2x], {x, 0, Pi}]

1 1 .
oupz- — COS[2X] + =X SIiN[2X]
4 2

Out[13]= O
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)
wa- Cear Al [f, X1];
f[X ]:=Log[4-x"2]
Print ["Roots f (x) : ", Solve[f [x] =0, x]]
Print ["Derivative f’ (x) : ", Factor [D[f [X], X]1]
Print ["Critical Point ,

Sol ve [D[f [x], x] =0, x], " approxinmately : ",
N[Sol ve [D[f [Xx], X] =0, X111

Roots f (x) : {{x--/3}, {x-+31}]

Derivative f’ (x) 2x
(-2 +X) (2+X)
Critical Point : {{Xx->0}} approximately : {{x->0.}}

The curve of thefunction f (x) =In (1 -x"2),
when -2 <x <2
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wa- Clear Al [f, x]; fT[x_]:=Log[4-x"2]
fgrl=Plot[f[x], {x, -2, 0}, PlotStyl e - Thi ck,
Col or Functi on -> Function[Red]];
fgr2=Plot [f[x], {x, 0, 2}, PlotStyl e » Thi ck,
Col or Functi on -> Function[Bl ue]];
fgr = Show[fgrl, fgr2, PlotRange -> Al |,
AxesLabel - {"x", "f (X)"}]

f(x)

out[26]=

-05f

-10f

1) MACLAURI N’ s POLYNOM AL

wn- Print ["Derivative f’'7 (x) = ",
Fact or [D[D[f [x], X1, X111
Print ["Maclaurin’s polynomal : ",
Series[f[x], {X, 0, 2}]]
2 <4+X2>
(-2 +X)%2 (2+x)2

. . X2
Macl aurin’s polynomal : Log[4] - " +O[x]3

Derivative '’ (x) = -




